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M r / I N S T R U C T I O N S 
1. srê T 3 *rPT t a f k amr^t ^ f f w f f g> XFTT ^ For 11 

This quest ion paper conta ins two parts and you have to answer all quest ions in both the 
parts. 

2. T F T '3T- T R R T 3 cfR t f$RF} 30 H7=T 11 m 1 ^ 10 ̂  eft 3PP S K T S ^ T , 11 -3 20 JFFff ^ tfFT 
3f5> "HrfeT fTM ̂  21 30 y^ft 3> 5 3FP tn% PT?̂  t 1 

Part 'A' - Mathemat ica l Knowledge Test has three sect ions conta in ing 30 quest ions. Q. 
Nos. 1 to 10 carry 2 marks each , 11 to 20 carry 3 marks each and 21 to 30 carry 5 marks 
each. 

3. *rrT '«r'- *rm STFT 3 9 s^r 11 1 xjg 2 ^ 15-15 are? i1 r̂rafr ^nfT jre^ff ^ 10-10 are? 11 *TRT £ ^TR 

any f ^ t f t 'tt ^ ^ f t §^ *rm 3 fena - ^H^cf £ i 

Part 'B ' - Language Abi l i ty Test contains 9 quest ions. Q.No. 1 and 2 carry 15 marks each 
and remain ing ques t ion carry 10 marks each. In this part you can wri te your answers in any 
one of the chosen language only. 

4. 3TN arq^ BTT? i tcfr / 'afJTrfr /^n€t ^ £t f^reti ^f%er ?t ^ fcrcsh 

Wri te your answer in Blue/Black ink only. Do not use penci l . 

All Rough W o r k is to.be done at space provided. 

6. V3 3 T̂JcT 18.tp55 £1 
There are total 19 pages in the quest ion paper. 
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^ 5 #aT' : ^Tfifcf / P A R T ' A ' : MATHEMATICS 

(TFTfa/lvlax. Marks : 100) 

- P ^ - M/SECTION : I 

(Each question carries two marks) 

Q.1. "cfT W T T 3 f t # T eTcTTsft, ^ W e f t W T T 41628 3fY^ W T T W e f t W T T ^ 1235 

3Tf£rcf> f | 

Find the sum of two numbers if one number is 41628 and the other number is 1235 greater than the 
first number. 

Q.2. 631997, 514245, 51437, 631460 cfTf 3TRt£r i f t eR^ t I 

Arrange the numbers in ascending order -

631997, 514245, 51437, 631460. 

Q.3. T̂ cfj cpf efft iJuTT 8 11 fTT cpf cpf 4 T̂TFT cpff 3 «fTcTT W 11 Uri)* cpf cf>T ffTWef STRT | 

The side of a square is 8m. The same square is divided into four equal squares. Find the area of the 
square. 

Q.4. 216 3 f h 90 c£ 3PTP337 ^ J T O ^ f e f # I 

Find prime factors of 216 and 90. 
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Q.5. 1 1 - + 6 — T̂FT §TRT cfRT | 
5 10 

Find the value of 1 1 - + 6 — . 
5 10 

Q.6. 95 e[5T 10% ITIcT c M l 

Find 10% of 95. 

Q.7. V&> ^d 4 1 I'll W 9 snJTcF̂  15 f^FTS x1cl4W 3 F I ^ faf ^ p F 11 ^JTcTR 30 f^FTS 

v ^ d 4 ) trgxf Wicit t eft " ^ d J i l ^ % cT5ef f^cFTT feFTf I 

A train starts from Delhi at 9.15 p.m and reaches Jammu Tawi next day at 11.30 am. Find the total 
time taken by the train. 

Q.8. 25 # ? t cT5T *TR 625 RbdFjH 11 35 «ft^t cf>T TR T̂TcT cfRt I 

The weight of 25 bags of sugar is 625 kg. Find the weight of 35 bags of the sugar. 
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Q.9. 75, 90 # ? 125 cPT cTOWTO fiTcT # l 

Find out L C M o f 75, 90 and 125. 

Q.10. ?cT5 3TFTcT 3ft MRHIM STTCT e f t ^ R zrfc 3TRTCT eft cF^r f 6 0 ^ 0 % ) 3 fk ^ffeTf 3 0 

•• Find the perimeter of rectangle of length 60 cm and breadth 30 cm. 

- II SECTION - II 

(Mc^cb -fir^T "dfa are? cj>[ f ) 

(Each quest ion carr ies Three marks) 

Q.11. m& crTxf - 1 6 -
r r 

4 + 2 ^ 6 -
1 V 2 , 

Simplify 16 
r 

4 + 2 < 6 -
. 1 
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Q.12. 3l|i|cllcbK ^cTPT eft eTfeTrt 40 ^̂ TcR 3TR xf fer | 30 ^TRf? f I ^ F T cf> sfttf ^ 2 xfn|t ^ 

^Fge£ ?F«n^ xfteTf cr> tf*TFTFcTC 11 ^T5cf) cf5T SfWcT $TRT efR | 

A rectangular lawn is 40m by 30m. It has two roads of 2m wide running in the middle one parallel to 
the length and the other parallel to the breadth. Find the area of the roads. 

Q.13. W 50 ^TcR cTJ%, 40 ^TcT? cT TT^ i f t ^ j T T ^ TT^£ eft Pl^cA f > W t CT5I 3TFTCFT 5TFT 

efRT I 

A pit 50 meter long, 40 meter wide and 1 meter deep is dug. Find the volume of earth dug out from 
the pit. 

Q.14. qcT5 ^ crTT cZTFff 14 # % 0 11 cpxT eft ifRf£r 3}R ST̂ PFĉ T 5TFT cf^t I 

Find the Area and circumference of a circle with diameter 14 cm. 

Q.15. qcfj cftw epr xH"^eb eft̂ T" ^FTF f | eftuy 3JR vH"^eb eftur ^ft TTFT crT̂ t | • 

An angle is twice of its complement. Find the measures of the angle and its complement. 
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Q.16. WJT3TT cffT cTOWTO 1080 f 3Jk TOWTO 18 1 1 ^cfj W T T 216 | eft ^ t WsJTT WKT eJRT I 

The LCM of two numbers is 1080 and their HCF is 18. One of the numbers is 216, find the other 
number. 

Q.17. 3TT?TT f % # epp} ^ 15 fcff 3 wmt cfv^ft t i ^tft cpt f%rarr 12 f ^ f t 3 •?PTP<T ^c f t %\T ftcw? cftm <jit f ^ l f 
f^ft *f 3R ^ f t 1 

Asha can finish a work in 15 days . The same work is finished by Nirmala in 12 days . In how many 
days both of them will finish the work while working together? 

Q.18. T^F % 90 W t gfcT cgtff eft cT? 6 ^ f a f I ^RFf 7 ^ F̂? cFTFt 10 

w r w& sfTei $ ^*F* >FPft <§RM eft 795 *f «FEF fan i CTPT *rr ? r f t w i 

A carpenter bought 6 chairs for Rs 90 each. He spent Rs 10 on each chair for painting. He then 
sold all the six chairs for Rs. 795. Find his profit or loss. 

Q.19. PlHfelRsJd ^azft cfc W F t ^TrS 3RF*T fef_" I 

(ef)) qef̂  4dlebN cR^ % eft ^oTF£ W F 3ffc >HHdcH ^TcT? FPcft f | 

fcl) qef) Wb] $ "eft CJCTFJJ T̂CTF 3fR >HHdcM 3TTETR FTcF 1 1 

(T) TTYĈ  ^ ttii xHHdcH ^ ^ FtcTT f | 
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Write true or false for the following statements. 

(a) A cylinder has two curved surfaces and one flat base. 

(b) A cone has two curved surfaces and one flat base. 

(c) A sphere has no flat faces. 

Q.?.o. fer^r ^ fMcreiiii4> 3 w j f f <ft W I T fsm ^ ar^RTR faarl n f t 1 1 3 F p R 

t^PHieiRsici writ cf5 X3OR ^rfcn? I r\ 
© 
= 5 

© © © © ( » © 

(crT) I5T5ft cfTT T̂eRT fits ^ e f W t ? 

(T) # - ^ T 3 t k c b e l ^ - H W ^ T crr^ W5ft P̂T 3 f ^K sTTcT cfRT ? 

In the following pictograph the number of students liking various sports have been represented 

Cricket 

Football 

Kabbadi 

Khokho 

Scale = 5 students 



With the help of this answer the following questions 

(a) Which is the most favourite game of the students? 

(b) How many students like Cricket? 

(c) What is the difference between the number of students liking Kho-kho and Kabbadi. 

^ 3 - III SECTION - III 

( t f c ^ f r JJTR are? cpT f ) 

(Each quest ion carr ies f ive marks) 

Q.21. Wf te f ^ 150 3 95 3fcr7 JTFcT f M cTSTT 3ft%cT ^ 250 *T i\0 SFF TTRT f ^ l SFF 3Tr§FF 

Sahil scored 95 marks out of 150 and Ankit scored 180 marks out of 250. Whose score is higher? 

Q.22. ^rfcR ^ 12 yfcT W f Ptrl erf eft "cR ^ «50 4500 \JSTR feF? I 3 Wet ^ WTcT ^FFT ^ 0 4000 3fft 

Jatin borrowed Rs 4500 at 12 paise for every rupee per annum. After 3 years he returned Rs 4000 
and a wrist watch. Find the cost of the wrist watch. 

Q.23. 3 Tfaifto f%sTT F̂T W <fcT ^ N f , 3ffc f^TR <TRT I 

(*&) cJTRT '3f <T 

(q) W W f "*T IT' (T) W T "CF ^g" 
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Draw a circle with radius 3 cm and mark. 

(a) Its centre O (b) Diameter AB 

(c) An Arc CD (e) a chord PQ. 

Q.24. 3T, sf 3frc cf> TTRf ^eT WT^T 1500 f I 3T 3ft? W T̂T% 3 3T̂ xrTcT 4:5 t I zrf^ ?T efr TRT ^rqr! 600 

t eft 3? cTSTT f % m W cfRf | 

A,B and C have a total of Rs 1500. The ratio of the money between A and B is 4:5. If C has Rs. 600, 
calculate the shares of A and B. 

Q.25 6 3feft eft W t «p|t W T T WCTT3TT ^ft 24, 15 3fft 36 ^ trof t^HTf^fcT t I 

What is the greatest 6 digit number which is exactly divisible by 24, 15 and 36? 

Q.26. XJeFJ cZrftRT ^50 75 3 itxTciT f eft ^ 4 PtcRTcT ^ft F T R FTdt 11 20 U fc^ld cTPT STKT 

ef> ten? ^ t%cFt W t WT^? iTcR> Ft>ft I 

By selling a bed sheet for Rs. 75, a man suffers 4 % loss. What amount should he sell it so as to 
gain 20% profit? 
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Q.27. zrfcT a=2, b=3 3 t k c=4 FT eft *TR fTTcT cjRt I 

(cfj) ab + bc (_r) 

b(a + c) 

If a=2, b=3, and c=4, find value of 

(a) ab + be (b) 
a(b + c) 
A (a + c) 

Q.28. ^ WTcf) c£ eft eTWt 7 ?T0%), W^lt 5 ^ 0 % 3 t k ^ N r f 3 F1 49 eFEf, 25 
^ 0 % cT 15 ^ 0 % T3Tct eFRt ^ fcfJcR TTTCT5 cf> ^ 3TT T̂T̂ PT I 

A chalk box measures 7 cm in length, 5 cm in breadth and 3 cm in height. How many chalk boxes 
can be placed in a box whose length breadth and height are respectively 49 cm, 25 cm and 15 cm? 

Q.29. f ^ r ^rtr 12 W T O T T CFT a t t w w r <F*T ^ W i t 8 w r r a f f <FT aftacT 21 s r k arr fMr wr rar r " 

m sftm 1 8 %\ 

Find average of 12 numbers if the average of the first 8 numbers is 21 and the average of the last 
four numbers is 18. 
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Q.30. t^r T[ir cpr TTfarrq Xtf & W o 7 WcT I 

Find the perimeter and area of the given figure? < 

1 

12m 

T vm\: LANGUAGE ABILITY 

( < i u l l * / Max Marks : 100) 

a i . v^tcpr w far otYcH e r w 

t ^ T 15 crTcFT foRsf I (15) 

Write a paragraph of 15 sentences on the topic :-

An Important Day in My Life ^TT/OR My A im in Life 
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Q.2. HHfaRsk l W ? T ^ WJHUjtJcb fa? e|q 5PSFTT £ vJoTC ^ r f v ^ J - (5X3=15) 

czrf?rcr 3 f k i f w * r * q R * 5 ^TRFST t i *R*qf O F R ) ^ j ^ r r e r ^ R t % w^s\t 
Wft rcT) W«Ftr <& terq <2TTc§cI * W 11 Witt TTcf, MRcicfH^cH ^Plt % I *PT u,Rc|cH c£ ^TST 

3FRT ^TWT eKdcl! W 11 3TTgRcf> ZPT i f ^ R M ITeT *IT cTer7 # f t c T ^ 11 3TM 

^ -cr?T c# c{5R-cr7R s f k t ^ f f f cR* T ^ f c M Ft W 1 1 FjcTT eJjRUT ^ T F Ftct F> ^ fET 3FR 

vRT fcRgcT W 5 f eft eft vJTReFRT H M ef^R ef> ferq i f ^ T f ! W v i T eft tcTfcTST vdM«*>|̂ | 

JTF-eT eJrR erTT ?ReT, ^JoR eT WTT ¥ H t - * R M N W% I 

(cp) c_Tf%T 3 f k W R M i f #7TT 11 

i f ¥ P eI5T t ! 

(TT\T ^sTF emt TFcTT F1 
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Read the fo l l ow ing passage careful ly and answer the ques t ions : (5X3=15) 

Kalidas is known as the Shakespeare of India. His name has been immortalised in the history of Sanskrit 
literature. He was at the head of the celebrated nine gems which adorned the court of King Vikramaditya. 
The poems and dramas of Kalidas have elicited unreserved praise not only from Indian Scholars but also 
from European critics like Maxmuller, a German. The age in which Kalidas flourished and the place where he 
was born are matters of dispute. But true genius is independent of time and place although the century of 
Kalidas is far more remote, his fame in shining with undiminished grandeur even in our own days. 

(a) Who is the Shakespeare of India? 

(b) Who was Maxmuller? 

(c) What is the language used by Kalidas for his literary works? 

(d) Where was Kalidas born? 

(e) What was the position of Kalidas in the court of King Vikramaditya? 

Q.3. HMfelRsId tall'fod W$ m JTOFT cfRcfc aicPT ^ ^ ^R?T «Hls^ I (5X2=10) 

cf>r •CTSZT R?CHI g g g g Ftcrr 11 ws<& 4>C*HI % # w c T t , RH**H errs <h sre^aT sffh 

f^TT %. WTcJ 3 vJMHcll ^Tpft ÊRf i f §̂>FTcTT f c T t ^ 3 n ^ ^ ^ ^ c T 5 N \3UcTT £1 

( * ) • 

«*) -

CO 

fe) 

( * ) • • • • 

Make a sentence of your own for each underlined word given in the following passage. (Do not copy any 

sentence from the given paragraph). (5X2=10) 
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Once a smart looking young man visited the office of a business man to look for a job. The manager though 
pleased with his behaviour said, 'There is no vacancy for a clerk." The young man was very unhappy and 
turned to go. As he was passing out of the door way, he found waste papers scattered all around the 
entrance. He at once picked them up and dropped in the dust bin. The manager saw this and was greatly 
impressed. He thought that the applicant was good enough to be employed in the office. So he called him 
back and appointed him a clerk in his office. 

(a) 

(b) 

(c) 

(d) 

(e) 

Q.4. HMfelRsId ^Tcfqt 3>T ^ feiRs|i| | (5X2=10) 

(cp) •"TRTcfn czTfo?T eft m wm\ i 

(_r) yiPictK far I 

( T ) crrfr_T FPTT I 

(q) Wl, c W T 3fR #?TT cPf eft I 

Form meaningful sentences by rearranging the words/phrases in the proper order. ( 5 X 2 = 1 0 ) 

(a) animal / man / a / is / social 

(b) Shimla / winter / went / we / during / to / holidays. 

(c) neighbour / is / photographer / a / our / good / very. 

(d) sentences / meaningful / the / make / following / to / words / phrases / and / rearrange. 
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(e) will / next / my / be / parents / meet / coming / to / me / week. • 

0,5. W?tt> ^f5ef g?T tfcTST trftSTT *f >HHfclcl F H teH? 'eft fcTR ^ 3TcTcT>M #3 TOMIUJm<i> ^ t 

W«RT *T?f fePcfl (10) 

Write a Leave application addressed to your Headmaster seeking two days leave to appear in Sainik 
Schools entrance examination. 
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Q.6. 

fa) 

t c ^ t ¥Pc[T "cTTcTO <FTTcTR 3RT* WcT - (5X2=10) 

(a) ww. w^j 

(q) wr, TOI 

(5.) arrqr, 3fM 

Use each of the word in separate sentences of your own to show the difference in the meaning of the 
words of the pairs given below: (5X2=10) 

(a) Sale, sail 

(b) Throne, thorn 

(c) whether, weather 
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(d) earn, yearn 

(e) cattle, kettle 

Q.7. HHfclRsId gSTTcRt M 3T4 feRIcTR ^Tscff i f y # T I (5X2=10) 

(cT5) T̂eT cf>T FR -

(a) ttcT if tp£ c^cHT -

(T) 3>*R W B -

(q) ^ 3 ^TRf »R \jfRT -

(^.) 3IWHH f^R tR ^cTFIT -

Choose correct form of pronouns from the brackets and fill in the blanks. (5X2=1 o) 

(a) We scored as many goals as (they, them, their) 

(b) The horse fell down and broke leg. (it, its,his) 

(c) The presents are for and me. (you, yours,yourself) 

(d) Wait for Hari and (I, me, mine) 

(e) Nobody but was present, (he, his, him) 

Q.8. H R IT^i ^ y.ilUlc||-cf| ?T«T feRsff I (5X2=10) 

fa) y * - - • •• ••• • • • • • - • 

(a) T̂cfcT -

W 3T^T " • 

(q) xp^JTf -

(3.) cjRcT -
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Change each of the following as directed. 

(a) He had been sleeping till now since morning. (Change into Interrogative) 

( 5 X 2 = 1 0 ) 

(b) The garden will be looking its best next month. (Change into Negative) 

(c) He leads a most unhappy life. (Change into Exclamatory) 

(d) How beautiful is night! (Change into Assertive) 

(e) Who does not know the owl? (Change into Assertive) 

Q. 9. HHfdRslcl cllcKJm cfr fcfq ^ ^ fcP^T I ( 5 X 2 = 1 0 ) 

(cf)) f̂t ITcpT feTST ^ Ft -

(^) f̂t f>cR eft T̂ TTRcTT FT -

(T) RH>Hcbl 3TraK 3T^T ̂ TF> Ft -

(q) fcptf i T t OTJR eft TFPt crfeTT -

(5.) wft W f t ^̂ JM Ft -

Fill in the blanks in the sentences below with suitable prepositions given in brackets ( 5 X 2 = 1 0 ) 

(a) Don't sit the grass. It is wet. 

(b) There is a pair of shoes the bed. 

(c) The dog swam the river. 

(d) I am sorry what I have done. 

(e) I felt nervous the exam. 

( i n / a t / o n ) 

(above / around / under) 

(by / beside / across) 

(by / for / with) 

(since / before / while) 
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